Ploaco IVJVD’) Lo’
Vv
Geometry_Worksheet h/[ J
Chapter & Sections =t OWn pﬂp@/\/‘ ‘e,
: & /R, D %4 s f
Draw a midsegment on the triangle.  2)
Show and tell why it is a midsegment.
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12. UOVW is an isosceles -

10. RULE 15 a kite.
‘What are the coordinates of

point E?
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11. PLAN is a kite. What are
the coordinates of point N?
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trapezoid. What are the
coordinates of point W?
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KITE is a kite. The perimeer of KITE is 38 .
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1) Draw a midsegment on the friangle.
Show and tell why it is a midsegment.
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10. RULE is a kite.
‘What are the epordinates of

point £? /é’lz)
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12. UOVW is an isosceles
trapezoid. What are the

coordinatqs) of point W?

11. PLAN is a kite. What are
the coordinates of point N?
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13. Calculate the measure of each lettered angle.
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KITE is a kite, -The perimeter of KITE is B8
KI=12 cm and KE =7 Jceos
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